’I QI I-. I Mounting instructions

3-303

Fixed Support Arm for C-rail 700 mm

11117



‘I ’I I-. I Mounting instructions
L

Washer M8 (2x)

M8x65 (2x)

Do not tighten brackets completely! 2

)
i )
‘. o

Square nut M8 inside c-profile

=\

L Washer M8

- M8x20

11117



W=/

0
\
0
0
\
\
0

Mounting instructions

Slide c-profile inside the brackets.

Open side of c-profile down.

7,

[ .

Tighten brackets to fix c-profile in place

11117



